Moto-All.ru

CITMCOK OETAJIEY [IJ14 "DRIVE TRAIN MAIN GEARCASE MOUNTING -

R14HR76AA AJ" POLARIS R14HR76AA AJ RANGER 800 6X6

/[WWW.OEM.MOTO-ALL.RU/
TEJIL.: +7 (495) 177-12-75

14

3

y 4

2 BTy




CITMCOK OETAJIEY [IJ14 "DRIVE TRAIN MAIN GEARCASE MOUNTING -

R14HR76AA AJ" POLARIS R14HR76AA AJ RANGER 800 6X6

/IWWW.OEM.MOTO-ALL.RU/
TEJIL.: +7 (495) 177-12-75

1 7518558 Cpok mmoctaBku oT 19 nHen BOLT-M10X1.25X20
2 7547333 Cpok IocTaBKH 0T 27 oHel NUT-M10X1.25
3 7518561 CpoK IoCcTaBKM OT 27 oHeH BOLT-M10X1.25X70
4 1332978 CpOK 1I0CTaBKH 0T 27 fHeU ASM-GEARCASE
5 7080307 CpoOK 1IoCTaBKH 0T 27 [He# CLAMP
6 8450003-1525 CpoK IoCcTaBKM OT 27 oHel LINE
7 7080138 Cpok mocTaBku OT 19 mHen CABLE TIE (10)
. SCR-M10X1.25X20
8 7519037 CpoK 1oCcTaBKH OT 27 [He# HXFL ZOD
9 5253893 CPpOK IIOCTaBKu OT 27 fHeH BRKT-TRANNY MNT
10 3234043 Cpok IIocTaBKH 0T 27 oHel NUT
1 5252611 CpoK mocTasku ot 27 mHeit BRKT-TRANSMISSION
MNT
12 3234042 CpOK 1I0CTaBKH 0T 27 fHeU SCREW
13 1015065-329 Cpok mocTaBKM 0T 27 oHel ;CI[EI],}D'ENG/T RANS
14 5521131 CpoK IoCTaBKM OT 27 OHeH TRIM




